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QUESTION 1

Which two Junos components does cRPD contain? (Choose two.) 

A. Kubernetes 

B. RIB 

C. Kernel 

D. MGD 

Correct Answer: BD 

 

QUESTION 2

Click the Exhibit button. 

Given the information shown below. 

2 spine nodes with (4) 40GbE interfaces each 

4 leaf nodes: 

Each leaf node has half-utilized (24) 10GbE interfaces. 

Each leaf node has (1) 40GbE interface to each of the 2 spine nodes. 

What is the oversubscription ratio for the IP fabric shown in the exhibit? 

A. 1:1 

B. 4:1 

C. 3:1 

D. 2:1 
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Correct Answer: C 

 

QUESTION 3

Your Junos device is configured with dual Routing Engines. 

In this scenario, which feature must be activated to preserve both the control and forwarding planes? 

A. graceful Routing Engine switchover only 

B. graceful Routing Engine switchover with graceful restart and non-stop routing 

C. graceful Routing Engine switchover with graceful restart 

D. graceful Routing Engine switchover with non-stop routing 

Correct Answer: D 

 

QUESTION 4
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You are designing a data center where all your servers in each rack will be connected to two top-of-rack (ToR) switches
using Layer 2, as shown in the exhibit. You must implement a high availability solution that maintains link layer
connectivity to each server when one of the ToR switches fails. 

In this scenario, which solution will accomplish this task? 

A. Virtual Chassis with LAG 

B. chassis cluster with LAG 

C. non-stop bridging (NSB) 

D. bidirectional forwarding detection (BFD) 

Correct Answer: A 
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QUESTION 5

You have a highly latency-sensitive application that is mission critical to your company\\'s operation. In this scenario,
what will enable you to identify issues within three second accuracy? 

A. JTI 

B. RMON1 

C. LDAP 

D. RMON2 

Correct Answer: A 
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